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5. Sue has 11 stinky stickers. Lou has 12 stinky stickers.
They put their stinky stickers together.
How many stinky stickers do they have in all?

S. 11
>
L. 12

11 +12 =
They have stinky stickers in all.
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6. 25 miners found 15 tons of gold in

ya N\
Crumbly Cave. They found 13 tons of A — \\-
gold in Cutesy Cave. How many tons p- - L. i
of gold did they find in all? I/ \ A
15+ 13 =
They found tons of gold in all.
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7. Uncle Oregano made 19 banana pizzas.
Aunt Olive made 16 pomegranate pizzas.
How many pizzas did they make altogether?

19 + 16 =
They made pizzas altogether.
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8. There are 8 birds in the bed. There are 8 dogs in the sink.
There are 8 cats in the tub. How many animals are there

in all?

8+8+ 8=

There are animals in all.

.- S C H O L A S T I C Problem Solved: Bar Model Math (Grade 3) © Scholastic Inc.





